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General Instructions
(i) The queston papeT COMPT WS of three Sections. A B

" ae to attempt all the
secoons

(11) All queszors are compulsory

(i)  There s no chowce in ary of the queostions

(iv)  All queszors o Section-A, Section-B and Section-C are to be rarately.

(v)  Question numbers 110 3.1n Sedtion-A are one mark ques are to be
answered i one word or In one sentence

(vi)  Questor mumbhers 4 t0 6 in Section-A are two marks gquestions ese are to be
answered m about 30 words each

(vit)  Queszor numbers 7 t0 18 in Section-A are three marks questions. These are to be
answered m about 50 words each

(vi)  Queston numbers 19 10 24 in Section-A are five marks questions. These are to be

answered m about 70 words each

Questtor numbers 25 t0 33 in Section-B are multiple chowe gquestions based on

praccal skis Eadh guestion is 2 one mark question You are to select one most
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(x ApPpropriate response out of the four provided to you. -

) Ql..lesuon numbers 34 to 36 in section B are two marks questions based on practica
_ skills. These are to be answered in about 30 words each.

(d)  Question number 37 from section C is based on Open Text themes and is of 10 marks.

Y- / SECTION-A

1 Arfiferanifig) FEm aa Mg+ s § serRl = wom @ i
What is the numiben#f electrons in Mg atom and Mg?* ion ?
2 39 T & W fefaefR Tk s w1 IvEr F@ W@ 2

Name the group called tlie"Afnpfﬁbian of the plant kingdom.

3mﬁwﬁmwtnmﬁwﬁr

The quality of the topsoil is important @ e Neason

4 e dfsfaets 7 e # dwifen chaat 7 S H

The antibiotic penicillin i effective againnt manty bacg®@NState reason

S orvea woi ) wRwf Wi g v e el |

Deifine transverse waves and give its one characteristics®

6 eyl °§ ol wEr ® yan e fafae -
(a) T FRA = WA e s R
(b) =7 wify was o)

Identify and state the type of transformation of energy in the following cases :

(a) when coal is burnt.
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(b) ina thermal power plant.

_ i/,(i)' TRTOERAT 1 qftamT fafag ) 3
() Frefafaa sl wt W fafa
(i) Hietor (i)  WERTE
(i) = WEERL, (iv) _rA
(a)  Definbufmidl\
(b)  Statethe éom.fcify._gf'the following molecules :
() '+ Oxvgenfli) _#hosphorous
i) sulphur(V" oHegon _'
3

[ﬁwmﬁ@mﬁmwékmmmﬁ;

=y

I

A [B |C ™® £\ F [G [H

= (2 |3 |3 |6 &9
'“ ‘.

QU] 1 1 2 ] 3 ;
L AW I
()  F3 T =gz femr &7
(i) FF A WY uF @ e & aneartos ¥
(i)  FYEEY T AR e wanm 7
(iv) @i afwg e F w2
(v) P W WY @ ROIATE e s ?
(vij THRRFEA11TRAT?

In the following table are given the mass number and atomic number of certain elements.
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Element | A B C D TE J‘ T G H
s -
Mass |2 3 3 5 19 |11 |19 |23
No. ‘{ ‘ | |
|

Atomic | 1 1 2 3 4 5 9 mn 5
No. | ‘ {

. | l | ]
(i) How many neutrons are present in F ?

(i)  Which atﬁmSarexSGtopes of the same element ?
(i) Which atom wdl l’ormsingle positively changed ion ?
(iv)  Whichis the atom of an mmt gas ?

(v) Which will form smgle negatn el\ charged ion? \ '

(vi)  Which of these has 11 eleg‘t;mm,;‘ ’

ﬁlogwﬁlogmwvfﬂzr’f“uwmmm?mw% 3

TER A 30g AR ¥ T EE T Wwwuwwwmm o

g F) s FFAY | SIE T '_'?ﬂ;:_

b Bt e fagi # s e vt 0 s o e v b

(@)  When 10g of sulphur is burnt in 107 of oxy o - ' wﬂ{hur dionide 1s produced ?
Find the mass of su phur dioxide ! rmed 01 burning - “Ug dl m?p‘ ur in g of oxvgen
Justify your answer by stating the law which governs ydur uhwer ]

(b) State the postulate of Dalton’s atomi. theory w hih can "l‘!#’" [hqf_ Ah\ ¢ law.

mﬂﬁmtwmmwﬁﬂwﬁﬁunﬂﬂnmdemaqu 3

0

() ¥ T ¥ el et el @ wmen ¥ fird mfyems srrensl ®) fafad )

(b) HTR v e & A ol @ A A wwm F ford w3 w0 wfew

The students of our school when visited a slum area, found many people suffering from

malaria.

(a)  Mention any two unhygienic conditions that must have prevailed in that locality

(b)  Which preventive measures students should take to avoid infection of this disease
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during their trip ?

fa w81 & AN 1w A @ A o .
(a) e T WA v DY F R @ Her w0 H we o ¥

®) 78I F 3 fm i A @ ?

© wednFn @ wFaR?

A plant specimen was found without difterentiated roots.

(a) Which  plant  structure  helps in attaching  this plant  to the
substratume? _

(b)  To which grodp )ou Will keep this plant ?

(<) Which plant coujd itbe? :

2 wﬁzwmﬁqﬁﬂmﬁml,ﬂ%ammnIMNwa?@WEWWWW3
o Ffg, 9k F9F F @ 5 25 m J

Define thrust and pressure. Give“theif"‘-’ @hit Calculate the pressure exerted by a block of
100N if the surface area in contactis = 5 m

s e aq A e 5w e Cal 3

(2) T m TEEA F TR W o TE ““"F?*ﬂj_tﬁjﬁtlﬁ#fﬁt{mqam

(a) Name the type of energy possessed by o moving o tqm e
(b) Derive and expression for this erer, . for an (Lot fF meiwath velaty @ and having

10 1300 kg ESEE ® TH FR M 50 kn/h 1 awr at wdr b et ® e e w3

Calculate the work required to be done to stop a car of 1300 kg moving at #speed of 50 km/h.

e § w3 S g A g0 IS @i e FE O U v g ¥ 3

How does the sound produced by a vibrating object in a medium reach our ears?

6 (a)qsaﬁahﬁﬁaﬁﬁmu_:xﬁn‘x.%uuﬁaﬁmmnos/mtﬁmw3
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wfwfaa Fifag
b Ttmm ® w s w1 fau o018 W b Ak wfefrm w1
27g/cc & @ ¥WF THUE F@ HHAU

(a) Radius of an iron sphere is 0.21 cm. If density of ironis 7.80 g/cc. Calculate its mass.

(b) Edge of a aluminium cube is 018 cm If density of alumiuum s

2.70 g/cc., calculate i s mass.

M (@ ol o g et ¢, faem @ fef 3
() frd e yu ﬁ"taﬂ*ﬂfwﬁ! T gfaa wet &2
()  Explain the formatien oféidrain

(b)  What does the presencé'of smag i an area indicate 7 . |

18, R w1 Hew fefarq g ww W G s @ b 3

Write the composition of soil 7 On what Lus iy i y e of soul decided ?

19 A Y& 7uE oal sifvas o d sniiy NETIS '_x.;;a!'r':-'i_u"‘r-.' ¥y g, fefimg S
Tz e Arfiferay wnypter & e oa el se s Mews wemr ety B

(VY] FEWA Ca = 40 U, C1 = %5 U K=% U8 % 14 U, O = 16 U,
H=1U) "7

Elaborate the basic difference between th: tormula unit mass .md the molt\ular mass. Write
the formulae for calcium :hloride, potdssmm nitrate and nugm«mm [“ dl’O!Id\* and COmputt

their molecular masses.

(atomic masses Ca=40 U, Cl=355U,K=39U,N=14U,O0=16 U, H=1U)

20 (a) faﬂﬁﬁmwﬁmﬁwxﬁﬁmmmwmmmi
(b) % wwEw Tw fEren w1 ™ fafg?

f rd1A
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s ©

(€)  YT=A §F F FF F H IR FE F 0AE

' 8 : . cientitic
() Identify the organism sh@wn ipsthe picture and write the common name and s

name of the organism.

(b) Name its phylum and kingdom

(c) Which organ of digestive svstefit ngFmally harbours this organism

TR L L I R PP

~ b)) TR e wdws @ b

() &R AfH - W F sifuawra w0 gw wad a0 sy e ad @ R T a% ax fevengfen
‘A" ¥ wfa fret © g B b

() ~ Whatisa vaccine ? Name any four diseases which can be pravented by vaccination

(b)  Whatis Pulse Polio programme ?

() Give reason - Majority of children in many parts of India are already immune to
Hepatitis A by the time they are 5 vears old

2 F@ g yaEw fofen @ gl v @ e
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(a) R Xy g smtm A wM X 7w Y 7@ wHfw
(b) ¥ viwem w1 ™ fafaEw
(c) ¥® vftwe # fraw == wifaw

(a) Find the angles x and(y in tife figure below.
(b) Name the phenom enorobseryved here.

(c) State the laws of the phefiomendn

3 i P U@ WA THE W A€ 50m BT W AR TR TR W AW GEE F

A A 150 m @ wF AT zm g4 o b

e & W Lfoa- @’

.(a) WY P65 AEE # smara wA e g ol

b) & @ft = o W 8 W S R S S G .

(eafys & WA g 4 344 m/s 1 70 A 13 s Y
(c) ¥R &1 sum & ofta fafun -
150 m away

The sound of an explosion on the surface ol a lake in BFagd By & man 15¢(
and by a diver 150 m below the point of explosion Answef theddllowing

(a) Explain who will hear the sound of explosion first / .
(b) ]f uound takes t sec. to reach the man h.m\_._ much nme wall

it take to reach the diver’ (speed of sound 1R wr s 344 m/s
and in water 1533 m/s) 5
(¢) Give the audible range of the man

(a)
b EEITEY @ FA F e FEC

auured fa sitars duAT F 9o | a1y T FE gE e 0
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(a) Explain how does burning of fossil fuels cause air pollution?

(b)  Justify “Dust is a pollutant”.

W-# / SECTION - B

25t ¥ voad ¥ ol 3 W F wm 0 awa A g T Ry F e s g 1
IMawe: |

(a) TEY @GS yar 3 Y Wt @ wEa ¥
(b) aa@vm.ﬁ’t@ﬁﬂamma‘m |
(€ ¥ F WY I z’r Ve &_

(d) a2 Y @‘raéﬁ ¢ 7,

While doing an experiment to unﬁ the laws of reflection of sound, in which of the following
cases will the sound heard be m.nunun‘ ?

(a) Pipes can either be hollow wr‘x Lid,

(b) When one of the pipes is hollow o+ § r‘x otper 1s solid

(c) When both the pipes are solid

y When both the pipes are hollow

26 o STaR 1.5m2 & fafia fawea 9 soN &1 a a1 mfﬁ_ rl zapis A W qfE R

(a) 333Pa (b) S0Pa (¢ 35T (@f 730 Pa
A doctor applies a force of 50N to the syringe’s piston of area 1. 5m2, The ncrease in pressure
of the fluid in the syringe is
(a) - 333Pa (b) S0Pa (¢ 35.5 Pa (d) 30Pa
\....»r""‘

- -~

W v @WWMWﬁmwﬁwméa%:
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() Fa argded win
(b) e srge
(© 2 e T qwn sy win
(d) 7 JRA T T 3w T
The kind of waves which can be generated by a slinky are :
(@  Only ‘ongltudmal waves
“(b) Only transverse waves

(c) Both longmsdm.a.l Waves and transverse waves

(d) neither long]tudlml vm\ €s NOr transverse waves

/28 Py fam 3 T ww fre 8 wmw: %

i (.;_,.‘-.E.f':.’ O W=
S N\
T faromy] oof ww i EN «

'x"‘“" P, }
( /\(\ '-‘*’:lf

’ \\ | ‘: "_ ’,‘f
,\/1:.-—’,& |
(Sterile Scales) /]
St
7
(a) TETH W ERIVE (b)  TFRE TEF
(© ¥ % foom @y frEm W gEiaE
QObserve the £ gure guen here. Which ¢ oW ng does 1t re Pre’:ﬁ‘ﬂt ?
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megasporoph
scales phyil

Sterile Scales
(a) Female cone of pinus (b) Male cone of pinus
(<) Rachis of Fern (d)  Annulus of Agaricus

29 m@mmmwwﬁmmmmtl
Nz + 3Hz->2NH, mfm Wﬂg soT N 14, H=1) 68g s @ ¥ ferg A M
W%ﬁwmmm%?

@ N:=28g H~_4og ® Np=56g Hi=12g

© N:=40g Hy=28g

(d) N:;=12g Hy= 5.6g

Nitrogen and Hydrogen combine !U}‘,cﬂ"“;}; 10 form ammonia.
)

Tte mase of Nitrogen and

N:+3H: —» 2NH: (Relative atuu‘.; 'w -m N=14 H=1)
Hydrogen which combine a*vge\:wr tw torm 6.8g ammonia
are :
(a) Na=28g H:=4.0g ) N3 =12
© Ne=40g Hi=28g TR o SEL
> Y TER WA 3 Fe w w )
~ v |+ ~+ ’_lx‘l'lil' {
(@) T A G F Fraw & a4 R ' .
(b) $9 1 =1 A Fravet et & e

wmﬁ%aﬁwﬁm#ﬁ"f%; _ 224
(d) srasq T8 &3 R
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30 Burning of paper causes weight loss because :
(@) it does not follow the law of conservation of mass

\/(b)/ some gases are produced and escaped out
(c) it is not a chemical reaction

(d)  precipitdte is 6t formed

N e § 3 - P 7 3-
(o) R Frarare, A e -3 T P g
(©) Ty e wre i A T T T e b
(d) e Rrofare =t ¥ e q;m T Tl T g
Which one of the following is the conect"‘;taigm'1't ;
(a) Plants with parallel venation have tap rawx_syst%«ﬁ{'aqd trimerous flowers.

(b) Plants with parallel venation have fibrous roggfstent and penta-merous flowers.

(c) Plants with reticulate venation have fLibrous oot ¥ stem and tetra-merous flowers.

,\@ﬂémts with reticulate venation have tap root s stem apgdiperfamerous flowers.

32 frafieast e sl wwArawd A g A St e R
(a) mﬁﬂﬁ\_"ﬁ (b) rALEAR DA (c;mﬁﬂ (d) )W{,!.;f'-,fj
Dicotyledons and monocotyledons are present in which of the following :

(a) gymnosperms (b) pteridophyta (¢) bryophvta (d) angiosperms

33 Py ® ¥ IR U 0w wwlE oy WH
(a)  dcTE by T
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(9 d 2

Y%, Which one of the following is not the potential breeding ground for mosquitoes : ?
(a) Ponds (b) lakes

\Vditches (d)  river

3mﬁ%ﬂtﬁ“%ﬁ%#mwmmwmmmiltfd?ﬁ%mmm&n 2
e 'tﬁmmmmmﬁ%i‘mm SEIANTE F FAAILR Jon TR ITg Bt ?

34

The mass of a sohd1ron cube of side 3 cm 1s to be determined by using a spring balance. If the

density of iron is‘about 85 2 CC~1, What should be the least count of the best suited spring
balance to determine the#eight of solid

35 mﬁuﬁwﬁ?mmﬁﬁ-m}m&‘t'rﬁ’aﬁvﬂwﬁmﬁﬁﬁ%%ﬁfﬂﬁwm 2
mmmmvﬁm‘mlﬂﬁmbup m/s’)
Aballﬁlledmmmrhasawlu:.w\: 500 ;m Cal ulate the nunimum forc? applied by a child
to put it completely inside the wateg, ’ .';-‘:“'.-' m/s’)

36 oAl FaA D fatere wrem Sofugn fuad ‘-'ﬁa g‘xg_:uﬂﬁlwwh 2

Name two features of the fish due to wh ules ar_ggimgonisad under phy lum pisces

vym n \ﬁlmn -C .
(* Please ensure that open text of the given theme is mpplml nlth thh questiin paper)

37 Theme-] (Clean Air-A shared Concern): (5+5) -

(a)ﬂﬂﬁqwﬂmaﬁaﬁﬁmﬁm mvn%fmcﬁ%ﬁwﬁmﬁim%
auﬁmmﬂmfmnmﬂfa‘mmfawiiwmaﬁqﬁz
Fif ik @ sfaa sl g s #F faw co; 1 nem wEEEd)

(b) ngq&ﬂ%mﬁsﬁa\nﬁﬁ%ﬁﬁw?l arg ® TFAE § f@n wwn farg @
§ o TeC AT F ITERA W F o A 5w R

Page 13 of 14

Generated by CamScanner



(@ Thou
gh the presence of CO; is necessary for the survival of life on earth but
€xcess release of it in the atmosphere is alarming. Justify this statement and give

three mitabl@les to explain the importance of CO; for life.

®) Cean air is vital msmnce and continuance of all living organisms on earth. How

getting disturbed and the availability of cl ir h
become great challengg for every one? ’ . \a” N

<

A
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